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Q.1 (a) Tick (() mark the correct option.







(10)
1.
Just as marriage added something, so did bereavement. 


(a) Large

(b) Narrow

(c) Tiny


(d) Small 
2.
Chips had won an uncharted no-man’s land of privilege.


(a) Honour

(b) Curse

(c) Boredom


(d) Tricks  
3.
Chips wore a tattered grown.


(a) Torn

(b) Silky

(c) New


(d) Precious 
4.
Brookfield fitted herself into England without disproportion.


(a) Similarity

(b) Difference

(c) Influence


(d) Prestige 
5.
The legendary lady was sitting like a crumbing doll.


(a) Common

(b) Famous

(c) Prostitute


(d) Vagabond 
6.
The legendary lady was sitting like a crumbing doll.


(a) Falling  to pieces
(b) Roaring

(c) Laughing 


(d) Rising 

7.
Ralston told Chips that he ignored his instruction, an insubordination.


(a) Obedience 
(b) Diligence 

(c) Disobedience

(d) Kindness  

 
8.
Ralston told Chips that it was his forbearance that he had put up with him so long.


(a) Bear

(b) Put on

(c) Put out


(d) Take off 
9.
The aims were clenched in deadlock from the sea to Switzerland.


(a) Standstill

(b) Freedom

(c) Freed


(d) Gripped
10.
 
Q.2 
Answer any FIVE of the following questions in 3-4 lines.




(10)
1. What was the favorite subject of mimicry throughout the school?
2. Who were Grayson junior and senior?
3. Why did Mr. Chips took Katherine to London?
4. What happened in 1908?
5. Discuss the row b/w Mr. Chips and Ralston.
6. What did Sir Johan Rivers say to Mr. Chips
Q.3
Write an essay on the topic “My Neighbours”.






(15)

Q.4
Put the correct form of verb by choosing the correct option given against each sentence.
(5)
1.
Shahzad is more taller than any other boy in the whole class.


(a) Shahad is taller than any other boy in the whole class.


(b) Shahad is more taller than any other boys in the whole class.



(c) Shahad is tallest than any other boy in the whole class.


(d) Shahad is taller than any boy in the whole class.
2.
I met a men in the bazaar who walked with the help of a stick.


(a) Did I met a men who walked with the help of a stick in the bazzar.


(b) I met a men in the bazzar which  walked with the help of a stick.


(c) In the bazzar, I met a man who walked with the help of a stick.


(d) In the bazzar, I met a man who walked with the help of stick.
3.
He worked hard lest he should fail in the examination.


(a) He worked hard lest he may fail in the examination.


(b) He worked hard lest he should fail in the examination.


(c) He work hard lest he might fail in the examination.


(d) He worked hard lest he can fail in the examination.
4.
Majority in Pakistan are illiterate.


(a) Majority in the Pakistan is illiterate.
(b) Majority of people in Pakistan is illiterate.


(c) Majority in Pakistan are illiterate.
(d) Majority in Pakistan is illiterate.
5.
Majority of the students is absent today.


(a) Majority of the students are absent today.
(b) Majority of the student is absent today.


(c) Majority are absent today.


(d) Majority of the students are absent today.
Q.5
Supply the proper preposition.








(5)

(1)
The parents crave ……….. brilliant success of their children.


(a) to


(b) of


(c) about

(d) for
(2) 
We have no correspondence ………… all now-a-days.


(a) for


(b) of


(c) to


(d) with

(3) 
He gives lot of contribution ………….. welfare societies.  


(a) for


(b) in


(c) to


(d) with

(4)
She expressed her disgust …………… the rotting food.


(a) of


(b) to


(c) for


(d) on

(5)
Suddenly it dawned ……… me that I was being deceived.


(a) with

(b) for


(c) to


(d) on
